50 MINI ADVENTURE GS 2002 <2002><EU><600125>

ENGINE CASE
115
Pos Part Number Description Additional Text Quantity
1 45130001000 CLUTCH COVER 50CCM LC 2001 1.00
2 45130502100 IGNITION COVER 50 GS 2002 MINI ADV. 1.00
3 45130000044 ENGINGE CASE 50CCM LC 2001 1.00
9 0603061001 CU-SEAL RING DIN7603-6X10X1 1.00
10 0015060103 HH COLLAR SCREW M 6X10 WS=8 FC 1.00
11 0015060253 HH COLLAR SCREW M 6X25 WS=8 6.00
12 0015060303 HH COLLAR SCREW M 6X30 SW=8 LC4, LC4 SM, DUKE 3.00
13 0015080603 HH COLLAR SCREW M 8X60 WS=10 1.00
14 0912060353 AH SCREW DIN0912-M 6X35 4.00
15 0912060404 AH SCREW DIN0912-M 6X40 A2 3.00
19 45130019000 GASKET FOR OIL PLUG 1.00
20 45130020000 OIL PLUG 50 LC 2001 1.00
21 46030021000 OIL DRAIN PLUG M10 WS=14 1.00
22 45130022000 ANGLE PIECE 50CCM LC 2001 1.00
23 45130023000 DOWEL 7X9X10 6.00
24 0603100141 sealing ring DIN 7603 10x14x1 ONLY FOR LC4 1.00
ADVENTURE
25 45130025000 GASKET FOR CLUTCH COVER 2001 1.00
37 52031137001 PVC-HOSE 3X5MM 0.20
39 45130039000 ENGINE CASE GASKET 50 LC 2001 1.00
99 45130599000 GASKET SET CPL. 50 AC 2002 1.00

* = New part



